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�Ó×�Ö´Ö ´ÖÖ®ÖÖ �ÖÖ�ÝÖÖ �
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POLITICAL SCIENCE 

Paper – II 
 

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All  
questions are compulsory. 

 

1. Given below are two statements, one labelled as Assertion (A) and the other as Reason (R). 

 Select the correct answer from the codes given below : 

 Assertion (A) : Kautilya emphasizes the need for a strong ruler. 

 Reason (R) : He was having acute awareness of the dangers of anarchy as well as the 
absolute necessity to establish order in society. 

 Codes : 

 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 

 (2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). 

 (3) (A) is true, but (R) is false. 

 (4) (A) is false, but (R) is true. 

 

2. Which one of the following is not a source of Plato’s theory of Ideas ? 

 (1) Heracleitus-The notion of sphere of Becoming. 

 (2) Antisthenes-The notion of absolute asceticism and rigorous self-mortification. 

 (3) Socrates-The doctrine of concepts. 

 (4) Eleatics-The idea of a sphere of absolute being. 

 

3. Match List-I with List-II and select the correct answer from the codes given below : 

List – I List – II 

(Aristotle’s theory of 
causation) 

(Explanations) 

a. The efficient cause i. The substance and essence of the thing. 

b. The final cause ii. Matter of which it is composed. 

c. The material cause iii. The purpose towards which the movement is 
directed. 

d. The formal cause iv. The cause of motion. 

 Codes : 

  a b c d 

 (1) i ii iii iv 

 (2) iv iii ii i 

 (3) iii iv i ii 

 (4) ii i iv iii 
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¸Ö�Ö®Öß×ŸÖ ×¾Ö–ÖÖ®Ö 
¯ÖÏ¿®Ö¯Ö¡Ö – II 

 

×®Ö¤ì¿Ö : ‡ÃÖ ¯ÖÏ¿®Ö¯Ö¡Ö ´Öë ¯Ö“ÖÖÃÖ (50) ²ÖÆã-×¾ÖÛ »¯ÖßµÖ ¯ÖÏ¿®Ö Æï … ¯ÖÏŸµÖêÛ  ¯ÖÏ¿®Ö Ûê  ¤Öê (2) †ÓÛ  Æï … ÃÖ³Öß ¯ÖÏ¿®Ö †×®Ö¾ÖÖµÖÔ Æï … 

 

1. ®Öß“Öê ¤Öê Û £Ö®Ö ×¤µÖê ÝÖµÖê Æï, ‹Û  Û Öê †×³ÖÛ £Ö®Ö (A) †Öî¸ ¤æÃÖ¸ê Û Öê ŸÖÛÔ  (R) Û ÆÖ ÝÖµÖÖ Æî … ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™ Û Ö 

¯ÖÏµÖÖêÝÖ Û ¸ ÃÖÆß ˆ¢Ö¸ “Öã×®ÖµÖê : 

 †×³ÖÛ £Ö®Ö (A) : Û Öî×™»µÖ ´Ö�Ö²ÖæŸÖ ¿ÖÖÃÖÛ  Û ß †Ö¾Ö¿µÖÛ ŸÖÖ ¯Ö¸ ²Ö»Ö ¤êŸÖÖ Æî … 

 ŸÖÛÔ  (R) : ˆÃÖê ÃÖ´ÖÖ�Ö ´Öë †¸Ö�ÖÛ ŸÖÖ Ûê  ÜÖŸÖ¸ê ŸÖ£ÖÖ ¾µÖ¾ÖÃ£ÖÖ Ã£ÖÖ×¯ÖŸÖ Û ¸®Öê Û ß †×®Ö¾ÖÖµÖÔŸÖÖ Û Ö ˆŸÛ ™ ²ÖÖê¬Ö £ÖÖ … 

 Ûæ ™ : 

 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖŸµÖ Æï †Öî¸ (R), (A) Û Ö ÃÖÆß Ã¯ÖÂ™ßÛ ¸ÞÖ Æî … 

 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖŸµÖ Æï, »Öê×Û ®Ö (R), (A) Û Ö ÃÖÆß Ã¯ÖÂ™ßÛ ¸ÞÖ ®ÖÆà Æî … 

 (3) (A) ÃÖŸµÖ Æî, ¯Ö¸ÓŸÖã (R) †ÃÖŸµÖ Æî … 

 (4) (A) †ÃÖŸµÖ Æî, ¯Ö¸ÓŸÖã (R) ÃÖŸµÖ Æî … 

 

2. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ¯»Öê™Öê Ûê  ×¾Ö“ÖÖ¸Öë Ûê  ×ÃÖ¨Ö®ŸÖ Û Ö ÄÖÖêŸÖ ®ÖÆà Æî ? 

 (1) Æê¸Ö×Œ»Ö™ÃÖ – ÃÖÓ³Öæ×ŸÖ Ûê  õÖê¡Ö Û Ö ×¾Ö“ÖÖ¸ 

 (2) ‹ë×™Ã£Öê×®ÖÃÖ – ×®Ö¸¯ÖêõÖ ¾Öî¸ÖÝµÖ¾Öé×¢Ö ŸÖ£ÖÖ Û šÖê¸ Ã¾Ö-µÖÖŸÖ®ÖÖ Û Ö ×¾Ö“ÖÖ¸ 

 (3) ÃÖãÛ ¸ÖŸÖ – †¾Ö¬ÖÖ¸ÞÖÖ†Öë Û Ö ×ÃÖ¨Ö®ŸÖ 

 (4) ‹×»ÖµÖÖ×™ŒÃÖ – ×®Ö¸¯ÖêõÖ ÃÖÓ³Öæ×ŸÖ Ûê  õÖê¡Ö Û Ö ×¾Ö“ÖÖ¸ 

 

3. ÃÖæ“Öß-I Û Öê ÃÖæ“Öß-II ÃÖê ÃÖã´Öê×»ÖŸÖ Û ß×�ÖµÖê ŸÖ£ÖÖ ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™ ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®ÖµÖê : 

ÃÖæ“Öß – I ÃÖæ“Öß – II 

(†¸ÃŸÖæ Ûê  Û ÖµÖÔÛ Ö¸ÞÖ ³ÖÖ¾Ö 

Û Ö ×ÃÖ¨Ö®ŸÖ) 

(Ã¯ÖÂ™ßÛ ¸ÞÖ) 

a. ×®Ö×´Ö¢Ö Û Ö¸ÞÖ i. ¾ÖÃŸÖã Û Ö ¯Ö¤Ö£ÖÔ ‹¾ÖÓ ÃÖÖ¸ 

b. †Ó×ŸÖ´Ö Û Ö¸ÞÖ ii. ¯Ö¤Ö£ÖÔ ×�ÖÃÖÃÖê µÖÆ ²Ö®ÖÖ Æî … 

c. ³ÖÖî×ŸÖÛ  Û Ö¸ÞÖ iii. ¾ÖÆ ˆ§ê¿µÖ ×�ÖÃÖÛ ß †Öê¸ ÝÖ×ŸÖ×¾Ö×¬Ö »Ö×õÖŸÖ Æî … 

d. †Öî¯Ö“ÖÖ×¸Û  Û Ö¸ÞÖ iv. ÝÖ×ŸÖ Û Ö Û Ö¸ÞÖ 

 Ûæ ™ : 

  a b c d 

 (1) i ii iii iv 

 (2) iv iii ii i 

 (3) iii iv i ii 

 (4) ii i iv iii 
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4. Given below are the two statements, one labelled as Assertion (A) and other labelled as 
Reason (R) : 

 Select the correct answer from the codes given below : 

 Assertion (A) : For Locke, Labour is the source and justification of property. 

 Reason (R) : Its function is to turn the earth into consumable goods. 

 Codes : 

 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 

 (2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). 

 (3) (A) is true, but (R) is false. 

 (4) (A) is false, but (R) is true. 

 

5. Which one of the features of Rawls’ concept of ‘Veil of ignorance’ is not true ? 

 (1) No one knows his place in society, his class position or social status. 

 (2) No one knows his fortune in the distribution of natural assets and abilities. 

 (3) The parties know their special psychological propensities. 

 (4) The parties do not (even) know their conception of the good. 

 

6. Who among the following described the welfare state as a kind of enslavement ? 

 (1) Karl Popper (2) F.A. Hayek 

 (3) R. Nozick (4) Milton Friedman 

 

7. E.M.S. Namboodiripad’s book Mahatma and Ism is an analysis of Mahatma Gandhi from 

the point of view 

 (1) Syndicalism (2) Socialism 

 (3) Liberalism (4) Marxism 

 

8. Which of the following statements is not true in case of M.N. Roy ? 

 (1) He prepared a model constitution for free India. 

 (2) Sovereign power was to be vested in the people. 

 (3) People’s committees to be set up in villages, towns and cities. 

 (4) He did not concede the right of secession to its constituent units. 

www.examrace.com
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4. ®Öß“Öê ¤Öê Û £Ö®Ö ×¤µÖê ÝÖµÖê Æï, ‹Û  Û Öê †×³ÖÛ £Ö®Ö (A) †Öî¸ ¤æÃÖ¸ê Û Öê ŸÖÛÔ  (R) Û ÆÖ ÝÖµÖÖ Æî … ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™ Û Ö 

¯ÖÏµÖÖêÝÖ Û ¸ ÃÖÆß ˆ¢Ö¸ “Öã×®ÖµÖê : 

 †×³ÖÛ £Ö®Ö (A) : »ÖÖòÛ  Ûê  ×»ÖµÖê ÁÖ´Ö ÃÖ´¯Ö×¢Ö Û Ö ÄÖÖêŸÖ †Öî¸ †Öî×“ÖŸµÖ Æî … 

 ŸÖÛÔ  (R) : ‡ÃÖÛ Ö Û ÖµÖÔ ¯Öé£¾Öß Û Öê ˆ¯Ö³ÖÖê�µÖ ÃÖÖ´ÖÖ®Ö ´Öë ²Ö¤»Ö ¤ê®ÖÖ Æî … 

 Ûæ ™ : 

 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖŸµÖ Æï †Öî¸ (R), (A) Û Ö ÃÖÆß Ã¯ÖÂ™ßÛ ¸ÞÖ Æî … 

 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖŸµÖ Æï †Öî¸ (R), (A) Û Ö ÃÖÆß Ã¯ÖÂ™ßÛ ¸ÞÖ ®ÖÆà Æî … 

 (3) (A) ÃÖŸµÖ Æî, ¯Ö¸ÓŸÖã (R) †ÃÖŸµÖ Æî … 

 (4) (A) †ÃÖŸµÖ Æî, ¯Ö¸ÓŸÖã (R) ÃÖŸµÖ Æî … 

 

5. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ¸Öò»ÃÖ Ûê  ‘†–ÖÖ®ÖŸÖÖ Ûê  †Ö¾Ö¸ÞÖ’ Û ß †¾Ö¬ÖÖ¸ÞÖÖ Û ß ‹Û  ×¾Ö¿ÖêÂÖŸÖÖ ÃÖÆß ®ÖÆà Æî ? 

 (1) ÃÖ´ÖÖ�Ö ´Öë †¯Ö®ÖÖ Ã£ÖÖ®Ö, †¯Ö®Öß ¾ÖÝÖÔ ×Ã£Ö×ŸÖ †£Ö¾ÖÖ ÃÖÖ´ÖÖ×�ÖÛ  Æî×ÃÖµÖŸÖ Û Öê Û Öê‡Ô ®ÖÆà �ÖÖ®ÖŸÖÖ … 

 (2) ¯ÖÏÖÛé ×ŸÖÛ  ÃÖ´¯Ö¤Ö†Öë Ûê  ×¾ÖŸÖ¸ÞÖ ŸÖ£ÖÖ õÖ´ÖŸÖÖ ´Öë †¯Ö®Öê ³ÖÖÝµÖ Û Öê Û Öê‡Ô ®ÖÆà �ÖÖ®ÖŸÖÖ … 

 (3) ¯ÖõÖÛ Ö¸ †¯Ö®Öß ×¾Ö×¿ÖÂ™ ´Ö®ÖÖê¾Öî–ÖÖ×®ÖÛ  ¯ÖÏ¾Öé×¢ÖµÖÖë Û Öê �ÖÖ®ÖŸÖê Æï … 

 (4) ¯ÖõÖÛ Ö¸ †“”ê Û ß †¯Ö®Öß †¾Ö¬ÖÖ¸ÞÖÖ Ûê  ²ÖÖ¸ê ´Öë (³Öß) ®ÖÆà �ÖÖ®ÖŸÖê … 

 

6. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖ®Öê Û »µÖÖÞÖÛ Ö¸ß ¸Ö�µÖ Û Öê ‹Û  ¯ÖÏÛ Ö¸ Û ß ¤ÖÃÖŸÖÖ Ûê  º ¯Ö ´Öë ¾ÖÞÖÔ®Ö ×Û µÖÖ Æî ? 

 (1) Û Ö»ÖÔ ¯ÖÖò¯Ö¸ (2) ‹± .‹. ÆêµÖêÛ  

 (3) †Ö¸. ®ÖÖò×�ÖÛ  (4) ×´Ö»™®Ö ±Ï ß›´Öî®Ö 

 

7. ‡Ô.‹´Ö.‹ÃÖ. ®Ö´²Öæ×¤¸ß¯ÖÖ¤ Û ß ¯ÖãÃŸÖÛ  ‘ ´ÖÆÖŸ´ÖÖ ‹Þ› ‡�´Ö’  ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖ ×¾Ö“ÖÖ¸¬ÖÖ¸Ö Ûê  ¥×Â™Û ÖêÞÖ ÃÖê 

´ÖÆÖŸ´ÖÖ ÝÖÖÓ¬Öß Û Ö ×¾Ö¿»ÖêÂÖÞÖ Æî ? 

 (1) ×ÃÖ®›ßÛê ™¾ÖÖ¤ (2) ÃÖ´ÖÖ�Ö¾ÖÖ¤ 

 (3) ˆ¤Ö¸¾ÖÖ¤ (4) ´ÖÖŒÃÖÔ¾ÖÖ¤ 

 

8. ‹´Ö.‹®Ö. ¸ÖµÖ Ûê  ´ÖÖ´Ö»Öê ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖ Û £Ö®Ö ÃÖÆß ®ÖÆà Æî ? 

 (1) ˆ®ÆÖë®Öê Ã¾ÖŸÖÓ¡Ö ³ÖÖ¸ŸÖ Ûê  ×»ÖµÖê ‹Û  ´ÖÖò›»Ö ÃÖÓ×¾Ö¬ÖÖ®Ö ŸÖîµÖÖ¸ ×Û µÖÖ … 

 (2) ÃÖÓ¯ÖÏ³Öã ¿Ö×ŒŸÖ �Ö®ÖŸÖÖ ´Öë ×®Ö×ÆŸÖ ÆÖê®Öß “ÖÖ×Æ‹ … 

 (3) ÝÖÖÑ¾ÖÖë, Û Ã²ÖÖë ŸÖ£ÖÖ ¿ÖÆ¸Öë ´Öë �Ö®Ö ÃÖ×´Ö×ŸÖµÖÖÑ ÝÖ×šŸÖ ÆÖë … 

 (4) ¾Öê ÃÖÓ‘Ö™Û  ‡Û Ö‡µÖÖë Ûê  †»ÖÝÖ ÆÖê®Öê Ûê  †×¬ÖÛ Ö¸Öë ¯Ö¸ ÃÖÆ´ÖŸÖ ®ÖÆà £Öê … 
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9. Which of the following statements is not true ? 

 (1) Traditional political theory is qualitative. 

 (2) Behavioural political theory is quantitative. 

 (3) Post-behavioural political theory is both qualitative and quantitative. 

 (4) Post-behavioural political theory is ethnocentric; focuses especially on western 
democracies.  

 

10. Who among the following emphasized on ‘procedural theory of democracy’ highlighting 
three criteria ?  

 (1) S.M. Lipset (2) R.A. Dahl 

 (3) Joseph Schumpeter (4) Sheldon Wolin 

 

11. Which one of the following is not a formulation of Max Weber ? 

 (1) Rationality, functional differentiation and specialization resulting in order, harmony 
and efficiency. 

 (2) Dominant authority based on beliefs and symbols in relation to ideal types. 

 (3) Dominant authority is hierarchical and related to state and ruling class. 

 (4) Rationalization and ideal typology method. 

 

12. Who said that federalism requires a people “Who desire union and must not desire         
unity” ? 

 (1) James Bryce (2) A.V. Diecy 

 (3) K.C. Wheare (4) H. Finer 

 

13. The assertion that there is no direct connection between the shape of a political culture and 
the stability of governance is made by 

 (1) Lijphart (2) Wolin 

 (3) Kavanagh (4) Blondel 

 

14. The ability of the U.S. President to get their way depends on four crucial relationships             
(a) Congress, (b) The federal bureaucracy, (c) The Supreme Court and (d) The mass 
media. 

 Which of the above is undoubtedly the most critical ? 

 (1) The Congress (2) The Federal bureaucracy 

 (3) The Supreme Court (4) The mass media 
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9. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖ Û £Ö®Ö ÃÖÆß ®ÖÆà Æî ? 

 (1) ¯ÖÖ¸´¯Ö×¸Û  ¸Ö�Ö®Öß×ŸÖÛ  ×ÃÖ¨Ö®ŸÖ ÝÖãÞÖÖŸ´ÖÛ  Æî … 

 (2) ¾µÖ¾ÖÆÖ¸¾ÖÖ¤ß ¸Ö�Ö®Öß×ŸÖÛ  ×ÃÖ¨Ö®ŸÖ ´ÖÖ¡ÖÖŸ´ÖÛ  Æî … 

 (3) ˆ¢Ö¸ ¾µÖ¾ÖÆÖ¸¾ÖÖ¤ß ¸Ö�Ö®Öß×ŸÖÛ  ×ÃÖ¨Ö®ŸÖ ÝÖãÞÖÖŸ´ÖÛ  ŸÖ£ÖÖ ´ÖÖ¡ÖÖŸ´ÖÛ  ¤Öê®ÖÖë Æï … 

 (4) ˆ¢Ö¸ ¾µÖ¾ÖÆÖ¸¾ÖÖ¤ß ¸Ö�Ö®Öß×ŸÖÛ  ×ÃÖ¨Ö®ŸÖ ®Öé�ÖÖ×ŸÖ Ûë ×¦ŸÖ Æî, µÖÆ ×¾Ö¿ÖêÂÖ Û ¸ ¯ÖÖ¿“ÖÖŸµÖ »ÖÖêÛ ŸÖÓ¡Ö ¯Ö¸ ¬µÖÖ®Ö Ûë ×¦ŸÖ 
Û ¸ŸÖÖ Æî … 

 

10. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖ®Öê ŸÖß®Ö ´ÖÖ®ÖÛ Öë ¯Ö¸ ×¾Ö¿ÖêÂÖ ²Ö»Ö ¤êŸÖê Æã‹ ‘»ÖÖêÛ ŸÖÓ¡Ö Ûê  ¯ÖÏ×ÛÎ µÖÖ´Öæ»ÖÛ  ×ÃÖ¨Ö®ŸÖ’  ¯Ö¸ ²Ö»Ö ×¤µÖÖ ?  

 (1) ‹ÃÖ.‹´Ö. ×»Ö¯ÃÖê™ (2) †Ö¸.‹. ›ÖÆ»Ö 

 (3) �ÖÖêÃÖê±  ¿Öæ´¯Öß™¸ (4) ¿Öê»›®Ö ¾ÖÖê×»Ö®Ö 

 

11. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ´ÖîŒÃÖ ¾Öê²Ö¸ Û Ö ×®Öº ¯ÖÞÖ ®ÖÆà Æî ? 

 (1) ŸÖÛÔ ¿Ö×ŒŸÖ, Û ÖµÖÔ´Öæ»ÖÛ  ×¾Ö³Öê¤®Ö ŸÖ£ÖÖ ×¾Ö×¿ÖÂ™ßÛ ¸ÞÖ ×�Ö®ÖÛê  ± »ÖÃ¾Öº ¯Ö ¾µÖ¾ÖÃ£ÖÖ, ÃÖÖîÆÖ¤Ô ŸÖ£ÖÖ ¤õÖŸÖÖ Û Ö 
×®Ö´ÖÖÔÞÖ ÆÖêŸÖÖ Æî … 

 (2) †Ö¤¿ÖÔ ¯ÖÏº ¯ÖÖë Ûê  ÃÖÓ²ÖÓ¬Ö ´Öë ×¾Ö¿¾ÖÖÃÖ ŸÖ£ÖÖ ÃÖÓÛê ŸÖÖë ¯Ö¸ †Ö¬ÖÖ×¸ŸÖ ¯ÖÏ³ÖÖ¾Öß ¯ÖÏÖ×¬ÖÛ Ö¸ … 

 (3) ¯ÖÏ³ÖÖ¾Öß ¯ÖÏÖ×¬ÖÛ Ö¸ ¯Ö¤ÃÖÖê¯ÖÖ×®ÖÛ  ÆÖêŸÖÖ Æî ŸÖ£ÖÖ µÖÆ ¸Ö�µÖ ‹¾ÖÓ ÃÖ¢ÖÖ ¾ÖÝÖÔ ÃÖê ÃÖÓ²ÖÓ×¬ÖŸÖ ÆÖêŸÖÖ Æî … 

 (4) †Öî×“ÖŸµÖ Ã£ÖÖ¯Ö®Ö ŸÖ£ÖÖ †Ö¤¿ÖÔ ¯ÖÏº ¯Ö×¾Ö–ÖÖ®Ö ×¾Ö×¬Ö … 

 

12. µÖÆ ×Û ÃÖÛ Ö Û £Ö®Ö Æî ×Û  ÃÖÓ‘Ö¾ÖÖ¤ ´Öë ‹êÃÖê ¾µÖ×ŒŸÖµÖÖë Û ß †Ö¾Ö¿µÖÛ ŸÖÖ ÆÖêŸÖß Æî “ ×�Ö®ÖÛ ß ‡“”Ö ÃÖÓ‘Ö Û ß ÆÖêŸÖß Æî, ¯Ö¸ÓŸÖã 

ˆ®Æë ‹Û ŸÖÖ Û ß ‡“”Ö ×²Ö»ÖÛã »Ö ®ÖÆà ÆÖê®Öß “ÖÖ×ÆµÖê” ? 

 (1) �Öê´ÃÖ ²ÖÎÖ‡ÃÖ (2) ‹.¾Öß. ›ÖµÖÃÖß 

 (3) Ûê .ÃÖß. Å¾ÖßµÖ¸ (4) ‹“Ö. ± Ö‡®Ö¸ 

 

13. µÖÆ ×Û ÃÖÛ Ö Û £Ö®Ö Æî ×Û  ¸Ö�Ö®Öß×ŸÖÛ  ÃÖÓÃÛé ×ŸÖ ŸÖ£ÖÖ ¿ÖÖÃÖ®Ö Ûê  Ã£ÖÖ×µÖŸ¾Ö Ûê  ²Öß“Ö Û Öê‡Ô ÃÖß¬ÖÖ ÃÖÓ²ÖÓ¬Ö ®ÖÆà Æî ? 

 (1) ×»Ö�Ö± ™Ô (2) ¾ÖÖê×»Ö®Ö 

 (3) Û ¾ÖÖ®ÖÝÖ (4) ²»ÖÖë›ê»Ö 

 

14. ÃÖÓµÖãŒŸÖ ¸Ö�µÖ †´Öê×¸Û Ö Ûê  ¸ÖÂ™Ò¯Ö×ŸÖ Û Öê †¯Ö®Öê ´ÖÖÝÖÔ Û Öê †¯Ö®ÖÖ®Öê Û ß õÖ´ÖŸÖÖ “ÖÖ¸ ´ÖÆ¢¾Ö¯ÖæÞÖÔ ÃÖÓ²ÖÓ¬ÖÖë ¯Ö¸ ×®Ö³ÖÔ¸ Û ¸ŸÖÖ          
Æî … (a) Û ÖÓÝÖÏêÃÖ (b) ÃÖÓ‘ÖßµÖ ®ÖÖîÛ ¸¿ÖÖÆß (c) ˆ““ÖŸÖ´Ö ®µÖÖµÖÖ»ÖµÖ †Öî¸ (d) ´ÖÖÃÖ ´Öß×›µÖÖ 

 ˆ¯ÖµÖãÔŒŸÖ ´Öë ÃÖê Û Öî®Ö ×®Ö:ÃÖÓ¤êÆ ÃÖ¾ÖÖÔ×¬ÖÛ  ´ÖÆ¢¾Ö¯ÖæÞÖÔ Æî ? 

 (1) Û ÖÓÝÖÏêÃÖ (2) ÃÖÓ‘ÖßµÖ ®ÖÖîÛ ¸¿ÖÖÆß 

 (3) ˆ““ÖŸÖ´Ö ®µÖÖµÖÖ»ÖµÖ (4) ´ÖÖÃÖ ´Öß×›µÖÖ 
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15. C. Wright Mills’ The Power Elite (1956) offered a general analysis of elites in 

 (1) Entire capitalistic world. 

 (2) Developed capitalistic world of North America and Western Europe. 

 (3) Developed capitalistic nations of North America, Western Europe and Japan. 

 (4) Developed capitalism of the U.S.A. 

 

16. Power is like money is formulated by 

 (1) C. Wright Mills (2) Paul Sweezy 

 (3) Talcott Parsons (4) Ralph Miliband 

 

17. Catch all party describes the post second world war party system in 

 (1) Western Europe (2) Eastern Europe 

 (3) The U.S. Party system (4) All of the above 

 

18. Who believed that the success of a revolution occurs when it is limited to the political and 
not extending to the social ? 

 (1) Crane Brinton (2) V.I. Lenin 

 (3) Hannah Arendt (4) Mahatma Gandhi 

 

19. The Capitalist world economy is made up of “Commodity Chains” of producers and 
consumers, sellers and buyers linking countries in the core of the world economy”, is the 
basis of 

 (1) Globalization and modernization theory. 

 (2) Lenin’s theory of imperialism 

 (3) Friedman’s World is flat theory 

 (4) World system theory 

 

20. Given below are two statements, one labelled as Assertion (A) and the other labelled as 
Reason (R) : 

 Select the correct answer from the codes given below : 

 Assertion (A) : Consociational democracy is an incomplete theory of democracy. 

 Reason (R) : As it blocks the way of a genuine alternative 

 In the context of the two statements, which one of the following is correct ? 

 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 

 (2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). 

 (3) (A) is true, but (R) is false. 

 (4) (A) is false, but (R) is true. 
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15. ÃÖß. ¸Ö‡™ ×´Ö»ÃÖ Û ß ¸“Ö®ÖÖ ‘_______¤ ¯ÖÖ¾Ö¸ ‹×»Ö™ ’ (1956) ®Öê ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖ´Öë †×³Ö�Ö®ÖÖë Û Ö ÃÖÖ´ÖÖ®µÖ ×¾Ö¿»ÖêÂÖÞÖ 
¯ÖÏÃŸÖãŸÖ ×Û µÖÖ ? 

 (1) ÃÖÓ¯ÖæÞÖÔ ¯ÖæÑ�Öß¾ÖÖ¤ß �ÖÝÖŸÖ ´Öë … 

 (2) ˆ¢Ö¸ß †´Öê×¸Û Ö ŸÖ£ÖÖ ¯Ö×¿“Ö´Öß µÖæ¸Öê¯Ö Ûê  ×¾ÖÛ ×ÃÖŸÖ ¯ÖæÑ�Öß¾ÖÖ¤ß �ÖÝÖŸÖ ´Öë … 

 (3) ˆ¢Ö¸ß †´Öê×¸Û Ö, ¯Ö×¿“Ö´Öß µÖæ¸Öê¯Ö ŸÖ£ÖÖ �ÖÖ¯ÖÖ®Ö Ûê  ×¾ÖÛ ×ÃÖŸÖ ¯ÖæÑ�Öß¾ÖÖ¤ß ¸ÖÂ™ÒÖë ´Öë … 

 (4) ÃÖÓµÖãŒŸÖ ¸Ö�µÖ †´Öê×¸Û Ö Ûê  ×¾ÖÛ ×ÃÖŸÖ ¯ÖæÑ�Öß¾ÖÖ¤ ´Öë … 

 

16. µÖÆ ×Û ÃÖÛ Ö ×®Öº ¯ÖÞÖ Æî ×Û  ¿Ö×ŒŸÖ ¯ÖîÃÖÖ Û ß ŸÖ¸Æ Æî ? 

 (1) ÃÖß. ¸Ö‡™ ×´Ö»ÃÖ (2) ¯ÖÖò»Ö Ã¾Öß�Öß 

 (3) ŸÖÖ»ÖÛ Öò™ ¯ÖÖÃÖÔ®ÃÖ (4) ¸Öò»±  ×´Ö×»Ö²Öï› 

 

17. Ûî “Ö †Öò»Ö ¯ÖÖ™á ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖ´Öë ˆ¢Ö¸ ×«ŸÖßµÖ ×¾Ö¿¾Ö µÖã¨ Û ß ¤»ÖßµÖ ¾µÖ¾ÖÃ£ÖÖ Û Ö ¾ÖÞÖÔ®Ö Û ¸ŸÖß Æî ? 

 (1) ¯Ö×¿“Ö´Öß µÖæ¸Öê¯Ö (2) ¯Öæ¾Öá µÖæ¸Öê¯Ö 

 (3) ÃÖÓµÖãŒŸÖ ¸Ö�µÖ †´Ö×¸Û ß ¤»ÖßµÖ ¾µÖ¾ÖÃ£ÖÖ (4) ˆ¯ÖµÖãÔŒŸÖ ÃÖ³Öß 

 

18. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê µÖÆ ×Û ÃÖÛ Ö ×¾Ö¿¾ÖÖÃÖ £ÖÖ ×Û  Û Öê‡Ô ÛÎ ÖÓ×ŸÖ ŸÖ³Öß ÃÖ± »Ö ÆÖêŸÖß Æî �Ö²Ö µÖÆ ¸Ö�Ö®Öß×ŸÖÛ  ¸ÆŸÖß Æî ŸÖ£ÖÖ 
ÃÖ´ÖÖ�Ö ŸÖÛ  ×¾ÖÃŸÖÖ×¸ŸÖ ®ÖÆà ÆÖêŸÖß Æî ? 

 (1) ÛÎê ®Ö ×²ÖÎ®™Öò®Ö (2) ¾Öß.†Ö‡Ô. »Öê×®Ö®Ö 

 (3) Æ®®ÖÖ †¸ê®™ (4) ´ÖÆÖŸ´ÖÖ ÝÖÖÓ¬Öß 

 

19. “ ¯ÖæÑ�Öß¾ÖÖ¤ß ¾Öî×¿¾ÖÛ  †£ÖÔ¾µÖ¾ÖÃ£ÖÖ ˆŸ¯ÖÖ¤Û Öë ŸÖ£ÖÖ ˆ¯Ö³ÖÖêŒŸÖÖ†Öë, ×¾ÖÛÎê ŸÖÖ†Öë ‹¾ÖÓ ÛÎê ŸÖÖ†Öë Û ß “ ¾ÖÃŸÖã ÀÖéÓÜÖ»ÖÖ” ÃÖê ²Ö®Öß Æî 
�ÖÖê ¾Öî×¿¾ÖÛ  †£ÖÔ¾µÖ¾ÖÃ£ÖÖ Ûê  Ûë ¦ ´Öë ¤ê¿ÖÖë Û Öê �ÖÖê›ÌŸÖß Æï”, µÖÆ ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖÛ Ö †Ö¬ÖÖ¸ Æî ? 

 (1) ³Öæ´ÖÓ›»ÖßÛ ¸ÞÖ ŸÖ£ÖÖ †Ö¬Öã×®ÖÛ ßÛ ¸ÞÖ ×ÃÖ¨Ö®ŸÖ 

 (2) »Öê×®Ö®Ö Ûê  ÃÖÖ´ÖÏÖ�µÖ¾ÖÖ¤ Û Ö ×ÃÖ¨Ö®ŸÖ 

 (3) ×±Ï ›´Öî®Ö Û Ö ×ÃÖ¨Ö®ŸÖ ×¾Ö¿¾Ö ÃÖ¯ÖÖ™ Æî … 

 (4) ×¾Ö¿¾Ö ¾µÖ¾ÖÃ£ÖÖ ×ÃÖ¨Ö®ŸÖ 

 

20. ®Öß“Öê ¤Öê Û £Ö®Ö ×¤µÖê ÝÖµÖê Æï, ‹Û  Û Öê †×³ÖÛ £Ö®Ö (A) †Öî¸ ¤æÃÖ¸ê Û Öê ŸÖÛÔ  (R) Û ÆÖ ÝÖµÖÖ Æî …  

 ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™ Û Ö ¯ÖÏµÖÖêÝÖ Û ¸ ÃÖÆß ˆ¢Ö¸ “Öã×®ÖµÖê : 

 †×³ÖÛ £Ö®Ö (A) : ÃÖÆ¾ÖŸÖÔ®Ö »ÖÖêÛ ŸÖÓ¡Ö, »ÖÖêÛ ŸÖÓ¡Ö Û Ö ‹Û  †¯ÖæÞÖÔ ×ÃÖ¨Ö®ŸÖ Æî … 

 ŸÖÛÔ  (R) : ŒµÖÖë×Û  µÖÆ ¾ÖÖÃŸÖ×¾ÖÛ  ×¾ÖÛ »¯Ö Û Ö ´ÖÖÝÖÔ †¾Ö¹ ¨ Û ¸ŸÖÖ Æî … 

 ¤Öê®ÖÖë Û £Ö®ÖÖë Ûê  ÃÖÓ¤³ÖÔ ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖ ÃÖÆß Æî ? 

 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖŸµÖ Æï †Öî¸ (R), (A) Û Ö ÃÖÆß Ã¯ÖÂ™ßÛ ¸ÞÖ Æî … 

 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖŸµÖ Æï, »Öê×Û ®Ö (R), (A) Û Ö ÃÖÆß Ã¯ÖÂ™ßÛ ¸ÞÖ ®ÖÆà Æî … 

 (3) (A) ÃÖŸµÖ Æî, ¯Ö¸ÓŸÖã (R) †ÃÖŸµÖ Æî … 

 (4) (A) †ÃÖŸµÖ Æî, ¯Ö¸ÓŸÖã (R) ÃÖŸµÖ Æî … 
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21. Who said, “The Constituent Assembly was a one party body in an essentially one party 

country. The Assembly was the congress and the congress was India” ? 

 (1) Morris Jones (2) Paul R. Brass 

 (3) Granville Austin (4) Richard Sisson 

 

22. Match List-I with List-II and select the correct answer from the codes given below : 

List – I List – II 

(Books) (Authors) 

a. The Child and the State in India i. Atul Kohli 

b. The Hindu Nationalist Movement and Indian Politics ii. Pranab Bardhan 

c. The Political Economy of Development in India iii. Christopher Jafrelot 

d. Poverty Amid Plenty in the New India iv. Myron Weiner 

 Codes : 

  a b c d 

 (1) iii iv i ii 

 (2) iv iii ii i 

 (3) ii i iii iv 

 (4) i ii iv iii 

 

23. Which of the following have been identified as the ground for judicial review in the 

exercise of power of pardon by the President of India or Governor of a state ? 

 a. that the order has been passed without application of mind. 

 b. that the order is malafide. 

 c. that the order is based on extraneous or wholly irrelevant considerations. 

 d. that the order suffers from arbitrariness. 

 Select the correct answer from the codes given below : 

 Codes : 

 (1) a, c and d (2) b, c and d 

 (3) a, b and d (4) a, b, c and d  
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21. µÖÆ ×Û ÃÖÛ Ö Û £Ö®Ö Æî, “ÃÖÓ×¾Ö¬ÖÖ®Ö ÃÖ³ÖÖ †×®Ö¾ÖÖµÖÔŸÖ: ‹Û  ¤»ÖßµÖ ¤ê¿Ö ´Öë ‹Û  ¤»ÖßµÖ ×®ÖÛ ÖµÖ £Öß … ¾ÖÆ ÃÖ³ÖÖ Û ÖÓÝÖÏêÃÖ £Öß 

ŸÖ£ÖÖ Û ÖÓÝÖÏêÃÖ Æß ³ÖÖ¸ŸÖ £ÖÖ” ? 

 (1) ´ÖÖê×¸ÃÖ �ÖÖê®ÃÖ (2) ¯ÖÖò»Ö †Ö¸. ²ÖÎÖÃÖ 

 (3) ÝÖÏî®Ö×¾Ö»Ö †Öò×Ã™®Ö (4) ×¸“Ö›Ô ×ÃÖ¿Ö®Ö 

 

22. ÃÖæ“Öß-I Û Öê ÃÖæ“Öß-II ÃÖê ÃÖã´Öê×»ÖŸÖ Û ß×�ÖµÖê ŸÖ£ÖÖ ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™ ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®ÖµÖê : 

ÃÖæ“Öß – I ÃÖæ“Öß – II 

(ÝÖÏÓ£Ö) (»ÖêÜÖÛ ) 

a. ¤ “ÖÖ‡»› ‹Ó› ¤ Ã™ê™ ‡®Ö ‡Ó×›µÖÖ i. †ŸÖã»Ö Û ÖêÆ»Öß 

b. ¤ ØÆ¤æ ®Öê¿Ö®Ö×»ÖÃ™ ´Öæ¾Ö´Öë™ ‹Þ› ‡Ó×›µÖ®Ö ¯ÖÖò×»Ö×™ŒÃÖ ii. ¯ÖÏÞÖ²Ö ²Ö¬ÖÔ®Ö 

c. ¤ ¯ÖÖò×»Ö×™Û »Ö ‡Û Öò®ÖÖò´Öß †Öò±  ›ê¾Ö»Ö¯Ö´Öë™ ‡®Ö ‡Ó×›µÖÖ iii. ×ÛÎ Ã™Öê± ¸ �Öê± ¸ê»ÖÖò™ 

d. ¯ÖÖò¾Ö™á ‹×´Ö› ¯»Öë™ß ‡®Ö ¤ ®µÖæ ‡Ó×›µÖÖ iv. ´ÖÖµÖ¸®Ö ×¾Ö®Ö¸ 

 Ûæ ™ : 

  a b c d 

 (1) iii iv i ii 

 (2) iv iii ii i 

 (3) ii i iii iv 

 (4) i ii iv iii 

 

23. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ®Æë ³ÖÖ¸ŸÖ Ûê  ¸ÖÂ™Ò¯Ö×ŸÖ †£Ö¾ÖÖ ¸Ö�µÖ¯ÖÖ»Ö «Ö¸Ö õÖ´ÖÖ ¯ÖÏ¤Ö®Ö Û ¸®Öê Ûê  †×¬ÖÛ Ö¸ Ûê  ¯ÖÏµÖÖêÝÖ ´Öë 

®µÖÖ×µÖÛ  ÃÖ´ÖßõÖÖ Ûê  ×»ÖµÖê †Ö¬ÖÖ¸ Ûê  º ¯Ö ´Öë ¯ÖÆ“ÖÖ®Ö Û ß ÝÖµÖß Æî ? 

 a. ×Û  †Ö¤ê¿Ö Û Öê ´Ö×ÃŸÖÂÛ  Û Ö ¯ÖÏµÖÖêÝÖ ×Û µÖê ×²Ö®ÖÖ ¯ÖÖ×¸ŸÖ ×Û µÖÖ ÝÖµÖÖ Æî … 

 b. ×Û  †Ö¤ê¿Ö ¤ã³ÖÖÔ¾Ö®ÖÖ¯ÖæÞÖÔ Æî … 

 c. ×Û  †Ö¤ê¿Ö Û Öê ²ÖÖÊ †£Ö¾ÖÖ ¯ÖæÞÖÔŸÖ: †ÃÖÓÝÖŸÖ †®ÖãØ“ÖŸÖ®Ö Ûê  †Ö¬ÖÖ¸ ¯Ö¸ ¯ÖÖ×¸ŸÖ ×Û µÖÖ ÝÖµÖÖ Æî … 

 d. ×Û  †Ö¤ê¿Ö µÖÖ¥×“”Û ŸÖÖ ÃÖê ÝÖÏ×ÃÖŸÖ Æî … 

 ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™Öë ÃÖê ÃÖÆß ˆ¢Ö¸ Û Öê “Öã×®ÖµÖê : 

 Ûæ ™ : 

 (1) a, c †Öî̧  d (2) b, c †Öî̧  d 

 (3) a, b †Öî̧  d (4) a, b, c †Öî̧  d  
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24. Match List-I with List-II and select the correct answer from the codes given below : 

List – I List – II 

(Panchayati Raj Committee) (Year) 

a. C.H. Hanumantha Rao i. 1978 

b. G.V.K. Rao ii. 1984 

c. Ashok Mehta iii. 1986 

d. L.M. Singhvi iv. 1985 

 Codes : 

  a b c d 

 (1) iv ii i iii  

 (2) ii iv i iii 

 (3) i iii ii iv 

 (4) iii i iv ii 

 

25. Given below are two statements, one labelled as Assertion (A) and the other labelled as 
Reason (R) : 

 Select the correct answer from the codes given below : 

 Assertion (A) : Fundamental Duties are non-justiciable. 

 Reason (R) : They are supposed to inculcate a sense of patriotic and sensible citizenship 

 Codes : 

 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 

 (2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). 

 (3) (A) is true, but (R) is false. 

 (4) (A) is false, but (R) is true. 

 

26. Which of the following are the privileges of the Legislature in India ? 

 a. Right to publish debates and proceedings and the right to restrain others from 
publishing. 

 b. The privilege of excluding strangers from the house. 

 c. The right to regulate its internal matters. 

 d. The right to punish members and outsiders for breach of privilege. 

 Select the correct answer from the codes given below : 

 Codes : 

 (1) a, c and d (2) b, c and d 

 (3) a, b and d (4) a, b, c and d 
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24. ÃÖæ“Öß-I Û Öê ÃÖæ“Öß-II ÃÖê ÃÖã´Öê×»ÖŸÖ Û ß×�ÖµÖê ŸÖ£ÖÖ ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™ ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®ÖµÖê : 

ÃÖæ“Öß – I ÃÖæ“Öß – II 

(¯ÖÓ“ÖÖµÖŸÖß ¸Ö�Ö ÃÖ×´Ö×ŸÖ) (¾ÖÂÖÔ) 

a. ÃÖß. ‹“Ö. Æ®Öã´Ö®ŸÖ ¸Ö¾Ö i. 1978 

b. �Öß. ¾Öß. Ûê . ¸Ö¾Ö ii. 1984 

c. †¿ÖÖêÛ  ´ÖêÆŸÖÖ iii. 1986 

d. ‹»Ö.‹´Ö. ØÃÖ‘Ö¾Öß iv. 1985 

 Ûæ ™ : 

  a b c d 

 (1) iv ii i iii  

 (2) ii iv i iii 

 (3) i iii ii iv 

 (4) iii i iv ii 

 

25. ®Öß“Öê ¤Öê Û £Ö®Ö ×¤µÖê ÝÖµÖê Æï, ‹Û  Û Öê †×³ÖÛ £Ö®Ö (A) †Öî¸ ¤æÃÖ¸ê Û Öê ŸÖÛÔ  (R) Û ÆÖ ÝÖµÖÖ Æî …  

 ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™ Û Ö ¯ÖÏµÖÖêÝÖ Û ¸ ÃÖÆß ˆ¢Ö¸ “Öã×®ÖµÖê : 

 †×³ÖÛ £Ö®Ö (A) : ´Öæ»Ö Û ¢ÖÔ¾µÖ ¾ÖÖ¤µÖÖêÝµÖ ®ÖÆà Æï … 

 ŸÖÛÔ  (R) : ˆ®ÖÛê  «Ö¸Ö ¤ê¿Ö³ÖŒŸÖ ŸÖ£ÖÖ ÃÖÓ¾Öê¤®Ö¿Öß»Ö ®ÖÖÝÖ×¸Û ŸÖÖ Û Ö ³ÖÖ¾Ö ³Ö¸ê �ÖÖ®Öê Û ß †¯ÖêõÖÖ ÆÖêŸÖß Æî … 

 Ûæ ™ : 

 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖŸµÖ Æï †Öî¸ (R), (A) Û Ö ÃÖÆß Ã¯ÖÂ™ßÛ ¸ÞÖ Æî … 

 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖŸµÖ Æï, »Öê×Û ®Ö (R), (A) Û Ö ÃÖÆß Ã¯ÖÂ™ßÛ ¸ÞÖ ®ÖÆà Æî … 

 (3) (A) ÃÖŸµÖ Æî, ¯Ö¸ÓŸÖã (R) †ÃÖŸµÖ Æî … 

 (4) (A) †ÃÖŸµÖ Æî, ¯Ö¸ÓŸÖã (R) ÃÖŸµÖ Æî … 

 

26. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ³ÖÖ¸ŸÖ ´Öë ×¾Ö¬ÖÖ×µÖÛ Ö Ûê  ×¾Ö¿ÖêÂÖÖ×¬ÖÛ Ö¸ Æï ? 

 a. ¾ÖÖ¤-×¾Ö¾ÖÖ¤ ŸÖ£ÖÖ ÃÖ³ÖÖ Û ß Û ÖµÖÔ¾ÖÖ×ÆµÖÖë Û Öê ¯ÖÏÛ Ö×¿ÖŸÖ Û ¸®Öê Û Ö †×¬ÖÛ Ö¸ ŸÖ£ÖÖ †®µÖ Û Öê ‡®ÖÛê  ¯ÖÏÛ Ö¿Ö®Ö ÃÖê 
¸ÖêÛ ®Öê Û Ö †×¬ÖÛ Ö¸ … 

 b. ÃÖ¤®Ö ÃÖê †�Ö®Ö×²ÖµÖÖë Û Öê †¯Ö¾ÖÙ�ÖŸÖ Û ¸®Öê Û Ö ×¾Ö¿ÖêÂÖÖ×¬ÖÛ Ö¸ … 

 c. †ÖÓŸÖ×¸Û  ´ÖÖ´Ö»ÖÖë Û Öê ×¾Ö×®ÖµÖ×´ÖŸÖ Û ¸®Öê Û Ö †×¬ÖÛ Ö¸ … 

 d. ×¾Ö¿ÖêÂÖÖ×¬ÖÛ Ö¸ Û Ö ˆ»»ÖÓ‘Ö®Ö Û ¸®Öê Ûê  ×»ÖµÖê ÃÖÖÓÃÖ¤Öë ŸÖ£ÖÖ ²ÖÖÆ¸ß ¾µÖ×ŒŸÖµÖÖë Û Öê ÃÖ�ÖÖ ¤ê®Öê Û Ö †×¬ÖÛ Ö¸ … 

 ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™ ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®ÖµÖê : 

 Ûæ ™ : 

 (1) a, c †Öî̧  d (2) b, c †Öî̧  d 

 (3) a, b †Öî̧  d (4) a, b, c †Öî̧  d 
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27. Arrange the following peasant movements in India in chronological order and select the 

correct answer from the codes given below : 

 i. Singur ii. Bardoli 

 iii. Tebhaga iv. Champaran 

 Codes : 

 (1) iv, iii, i, ii (2) iv, ii, iii, i 

 (3) ii, iii, iv, i (4) i, ii, iii, iv 

 

28. Identify the correct chronological order of the developments of events related to 

federalism in India.  

 (1) Anandpur Sahib Resolution, Rajamannar committee, Punchhi Commission, West 

Bengal Memorandum. 

 (2) West Bengal Memorandum, Rajamannar Committee, Anandpur Sahib Resolution, 

Punchhi Commission  

 (3) Rajamannar Committee, West Bengal Memorandum, Anandpur Sahib Resolution, 

Punchhi Commission 

 (4) Rajamannar Committee, Anandpur Sahib Resolution, West Bengal Memorandum, 

Punchhi Commission 

 

29. Who described Indian capitalism as “Dharmashala Capitalism” ? 

 (1) V.K.R.V. Rao (2) J. Bhagwati 

 (3) Amartya Sen (4) Raj Krishna 

 

30. Which of the following is not associated with electoral reforms in India ? 

 (1) Tarkunde Committee 

 (2) Dinesh Goswami Committee 

 (3) N.N. Vohra Committee  

 (4) Indrajit Gupta Committee 
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27. ³ÖÖ¸ŸÖ ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ ×Û ÃÖÖ®Ö †ÖÓ¤Öê»Ö®ÖÖë Û Öê ˆ®ÖÛê  Û Ö»ÖÛÎ ´ÖÖ®ÖãÃÖÖ¸ ¾µÖ¾Ö×Ã£ÖŸÖ Û ß×�ÖµÖê ŸÖ£ÖÖ ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™ ÃÖê 

ÃÖÆß ˆ¢Ö¸ “Öã×®ÖµÖê : 

 i. ØÃÖÝÖæ¸ 

 ii. ²ÖÖ¸›Öê»Öß 

 iii. ŸÖê³ÖÖÝÖÖ 

 iv. “Ö´¯ÖÖ¸ÞÖ 

 Ûæ ™ : 

 (1) iv, iii, i, ii (2) iv, ii, iii, i 

 (3) ii, iii, iv, i (4) i, ii, iii, iv 

 

28. ³ÖÖ¸ŸÖ ´Öë ÃÖÓ‘Ö¾ÖÖ¤ ÃÖÓ²ÖÓ¬Öß ‘Ö™®ÖÖ†Öë Ûê  ×¾ÖÛ ÖÃÖ Ûê  ÃÖÆß Û Ö»ÖÛÎ ´Ö Ûê  ÛÎ ´Ö Û ß ¯ÖÆ“ÖÖ®Ö Û ß×�ÖµÖê : 

 (1) †Ö®Ö®¤¯Öã¸ ÃÖÖ×Æ²Ö ¯ÖÏÃŸÖÖ¾Ö, ¸Ö�Ö´Ö®®ÖÖ¸ ÃÖ×´Ö×ŸÖ, ¯ÖãÓ” ß †ÖµÖÖêÝÖ, ¯Ö×¿“Ö´Ö ²ÖÓÝÖÖ»Ö –ÖÖ¯Ö®Ö 

 (2) ¯Ö×¿“Ö´Ö ²ÖÓÝÖÖ»Ö –ÖÖ¯Ö®Ö, ¸Ö�Ö´Ö®®ÖÖ¸ ÃÖ×´Ö×ŸÖ, †Ö®Ö®¤¯Öã¸ ÃÖÖ×Æ²Ö ¯ÖÏÃŸÖÖ¾Ö, ¯ÖãÓ” ß †ÖµÖÖêÝÖ 

 (3) ¸Ö�Ö´Ö®®ÖÖ¸ ÃÖ×´Ö×ŸÖ, ¯Ö×¿“Ö´Ö ²ÖÓÝÖÖ»Ö –ÖÖ¯Ö®Ö, †Ö®Ö®¤¯Öã¸ ÃÖÖ×Æ²Ö ¯ÖÏÃŸÖÖ¾Ö, ¯ÖãÓ” ß †ÖµÖÖêÝÖ 

 (4) ¸Ö�Ö´Ö®®ÖÖ¸ ÃÖ×´Ö×ŸÖ, †Ö®Ö®¤¯Öã¸ ÃÖÖ×Æ²Ö ¯ÖÏÃŸÖÖ¾Ö, ¯Ö×¿“Ö´Ö ²ÖÓÝÖÖ»Ö –ÖÖ¯Ö®Ö, ¯ÖãÓ” ß †ÖµÖÖêÝÖ 

 

29. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖ®Öê ³ÖÖ¸ŸÖßµÖ ¯ÖæÑ�Öß¾ÖÖ¤ Û Ö ¾ÖÞÖÔ®Ö “¬Ö´ÖÔ¿ÖÖ»ÖÖ ¯ÖæÑ�Öß¾ÖÖ¤”  Ûê  º ¯Ö ´Öë ×Û µÖÖ Æî ? 

 (1) ¾Öß.Ûê .†Ö¸.¾Öß. ¸Ö¾Ö (2) �Öê. ³ÖÝÖ¾ÖŸÖß 

 (3) †´ÖŸµÖÔ ÃÖê®Ö (4) ¸Ö�Ö Ûé ÂÞÖ 

 

30. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ³ÖÖ¸ŸÖ ´Öë ×®Ö¾ÖÖÔ“Ö®Ö ÃÖã¬ÖÖ¸Öë ÃÖê ÃÖÓ²Ö¨ ®ÖÆà Æî ? 

 (1) ŸÖÖ¸ÛãÓ ›ê ÃÖ×´Ö×ŸÖ 

 (2) ×¤®Öê¿Ö ÝÖÖêÃ¾ÖÖ´Öß ÃÖ×´Ö×ŸÖ 

 (3) ‹®Ö.‹®Ö. ¾ÖÖêÆ¸Ö ÃÖ×´Ö×ŸÖ 

 (4) ‡®¦�ÖßŸÖ ÝÖã¯ŸÖ ÃÖ×´Ö×ŸÖ 
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31. Arrange the following approaches to the study of Public Administration in a sequential 
order : 

 a. Behavioural approach b. Systems approach 

 c. Institutional approach d. Public Policy approach 

 Select the correct answer from the codes given below : 

 Codes : 

 (1) a, b, c, d (2) c, b, a, d 

 (3) a, c, d, b (4) c, a, b, d 

 

32. Given below are two statements, one labelled as Assertion (A) and the other labelled as 
Reason (R) : 

 Select the correct answer from the codes given below : 

 Assertion (A) : Civil servants in India do not have any political rights. 

 Reason (R) : Neutrality is the hallmark of the civil services in India. 

 Codes : 

 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 

 (2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). 

 (3) (A) is true, but (R) is false. 

 (4) (A) is false, but (R) is true. 

 

33. Which of the following have been identified by the Second Administrative Reforms 
Commission as barriers to citizen-centric administration in India ? 

 a. Inflexible self-perpetuating and inward looking attitude of civil servants. 

 b. Lack of accountability of civil servants. 

 c. Absence of well educated political leadership. 

 d. Low levels of awareness of the rights and duties of citizens. 

 Select the correct answer from the codes given below : 

 Codes : 

 (1) a, b and c (2) a, b and d 

 (3) a, c and d (4) a, b, c and d 

 

34. Which of the following is the nodal agency for budget implementation in India ? 

 (1) Parliament 

 (2) Public Accounts Committee 

 (3) Ministry of Finance 

 (4) Comptroller and Auditor General of India 
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31. »ÖÖêÛ  ¯ÖÏ¿ÖÖÃÖ®Ö Ûê  †¬µÖµÖ®Ö Ûê  ×®Ö´®Ö×»Ö×ÜÖŸÖ ˆ¯ÖÖÝÖ´ÖÖë Û Öê †Ö®ÖãÛÎ ×´ÖÛ  ÛÎ ´Ö ´Öë ¾µÖ¾Ö×Ã£ÖŸÖ Û ß×�Ö‹ : 

 a. ¾µÖÖ¾ÖÆÖ×¸Û  ˆ¯ÖÖÝÖ´Ö b. ¾µÖ¾ÖÃ£ÖÖ ˆ¯ÖÖÝÖ´Ö 

 c. ÃÖÓÃ£ÖÖÝÖŸÖ ˆ¯ÖÖÝÖ´Ö d. »ÖÖêÛ  ®Öß×ŸÖ ˆ¯ÖÖÝÖ´Ö 

 ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™Öë ÃÖê ÃÖÆß ˆ¢Ö¸ Û Ö “ÖµÖ®Ö Û ß×�Ö‹ : 

 Ûæ ™ : 

 (1) a, b, c †Öî̧  d (2) c, b, a †Öî̧  d 

 (3) a, c, d †Öî̧  b (4) c, a, b †Öî̧  d 

 

32. ®Öß“Öê ¤Öê Û £Ö®Ö ×¤µÖê ÝÖµÖê Æï, ‹Û  Û Öê †×³ÖÛ £Ö®Ö (A) †Öî¸ ¤æÃÖ¸ê Û Öê ŸÖÛÔ  (R) Û ÆÖ ÝÖµÖÖ Æî …  

 ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™ Û Ö ¯ÖÏµÖÖêÝÖ Û ¸ ÃÖÆß ˆ¢Ö¸ “Öã×®ÖµÖê : 

 †×³ÖÛ £Ö®Ö (A) : ³ÖÖ¸ŸÖ ´Öë »ÖÖêÛ  ÃÖê¾ÖÛ Öë Ûê  Û Öê‡Ô ¸Ö�Ö®Öß×ŸÖÛ  †×¬ÖÛ Ö¸ ®ÖÆà ÆÖêŸÖê Æï … 

 ŸÖÛÔ  (R) : ŸÖ™Ã£ÖŸÖÖ ³ÖÖ¸ŸÖ ´Öë »ÖÖêÛ  ÃÖê¾ÖÖ†Öë Û ß ×¾Ö¿ÖêÂÖŸÖÖ Æî … 

 Ûæ ™ : 

 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖŸµÖ Æï †Öî¸ (R), (A) Û Ö ÃÖÆß Ã¯ÖÂ™ßÛ ¸ÞÖ Æî … 

 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖŸµÖ Æï, ¯Ö¸ÓŸÖã (R), (A) Û Ö ÃÖÆß Ã¯ÖÂ™ßÛ ¸ÞÖ ®ÖÆà Æî … 

 (3) (A) ÃÖŸµÖ Æî, ¯Ö¸ÓŸÖã (R) †ÃÖŸµÖ Æî … 

 (4) (A) †ÃÖŸµÖ Æî, ¯Ö¸ÓŸÖã (R) ÃÖŸµÖ Æî … 

 

33. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ®Æë ×«ŸÖßµÖ ¯ÖÏ¿ÖÖÃÖ×®ÖÛ  ÃÖã¬ÖÖ¸ †ÖµÖÖêÝÖ ®Öê ³ÖÖ¸ŸÖ ´Öë ®ÖÖÝÖ×¸Û -Ûë ¦ß ¯ÖÏ¿ÖÖÃÖ®Ö ´Öë †¾Ö¸Öê¬Ö Ûê  º ¯Ö ´Öë 

¯ÖÆ“ÖÖ®Ö Û ß Æî ? 

 a. »ÖÖêÛ  ÃÖê¾ÖÛ Öë Ûê  »Ö“Öß»ÖÖ Ã¾ÖÃ£ÖÖµÖßÛ ¸ÞÖ ŸÖ£ÖÖ †Ö³µÖÓŸÖ×¸Û  †¾Ö»ÖÖêÛ ®Ö Û Ö ¥×Â™Û ÖêÞÖ … 

 b. »ÖÖêÛ  ÃÖê¾ÖÛ Öë Ûê  ˆ¢Ö¸¤Ö×µÖŸ¾Ö Û Ö †³ÖÖ¾Ö … 

 c. ÃÖã×¿Ö×õÖŸÖ ¸Ö�Ö®Öß×ŸÖÛ  ®ÖêŸÖéŸ¾Ö Û Ö †³ÖÖ¾Ö … 

 d. ®ÖÖÝÖ×¸Û Öë Ûê  †¯Ö®Öê †×¬ÖÛ Ö¸Öë ‹¾ÖÓ Û ¢ÖÔÔ¾µÖÖë Û ß �ÖÖ®ÖÛ Ö¸ß Û Ö ×®Ö´®Ö ÃŸÖ¸ … 

 ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™Öë ÃÖê ÃÖÆß ˆ¢Ö¸ Û Ö “ÖµÖ®Ö Û ß×�Ö‹ : 

 Ûæ ™ : 

 (1) a, b †Öî̧  c (2) a, b †Öî̧  d 

 (3) a, c †Öî̧  d (4) a, b, c †Öî̧  d 

 

34. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ³ÖÖ¸ŸÖ ´Öë ²Ö�Ö™ Û Öê »ÖÖÝÖæ Û ¸®Öê ÆêŸÖã ®ÖÖê›»Ö ‹�ÖëÃÖß Æî ? 

 (1) ÃÖÓÃÖ¤ 

 (2) »ÖÖêÛ  ÃÖê¾ÖÖ ÃÖ×´Ö×ŸÖ 

 (3) ×¾Ö¢Ö ´ÖÓ¡ÖÖ»ÖµÖ 

 (4) ³ÖÖ¸ŸÖ Û Ö ×®ÖµÖÓ¡ÖÛ  ‹¾ÖÓ ´ÖÆÖ»ÖêÜÖÖ ¯Ö¸ßõÖÛ  
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35. In India, the term deficit financing was first defined by 

 (1) First Five Year Plan 

 (2) Finance Commission 

 (3) Administrative Reforms Commission 

 (4) A.D. Gorwala Report 

 

36. Which of the following types of bureaucracy regards itself as the custodian of public 

interest but is independent of and unresponsive to public opinion ? 

 (1) Merit bureaucracy (2) Caste bureaucracy 

 (3) Patronage bureaucracy (4) Guardian bureaucracy 

 

37. Which of the following are the common features between the 73rd Constitutional 

Amendment Act and the 74th Constitutional Amendment Act ? 

 a. Periodical elections. 

 b. Empowerment of socially and economically weak groups. 

 c. Constitution of State Election Commission. 

 d. Constitution of Ward Committees. 

 Select the correct answer from the codes given below : 

 Codes : 

 (1) a and c  (2) a, b and c 

 (3) a, c and d (4) a, b, c and d 

 

38. Which of the following are statutory bodies ? 

 a. University Grants Commission 

 b. Official Language Commission 

 c. Railway Board 

 d. Atomic Energy Commission 

 Select the correct answer from the codes given below : 

 Codes : 

 (1) a and b (2) a, c and d 

 (3) a, b and d (4) b and d 
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35. ³ÖÖ¸ŸÖ ´Öë ¿Ö²¤ ‘ ‘ÖÖ™Ö ×¾Ö¢ÖßµÖ®Ö’  Û Öê ÃÖ¾ÖÔ¯ÖÏ£Ö´Ö ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖÛê  «Ö¸Ö ¯Ö×¸³ÖÖ×ÂÖŸÖ ×Û µÖÖ ÝÖµÖÖ £ÖÖ ? 

 (1) ¯ÖÏ£Ö´Ö ¯ÖÓ“Ö¾ÖÂÖáµÖ µÖÖê�Ö®ÖÖ 

 (2) ×¾Ö¢Ö †ÖµÖÖêÝÖ 

 (3) ¯ÖÏ¿ÖÖÃÖ×®ÖÛ  ÃÖã¬ÖÖ¸ †ÖµÖÖêÝÖ 

 (4) ‹.›ß. ÝÖÖê¸¾ÖÖ»ÖÖ ×¸¯ÖÖê™Ô 

 

36. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö-ÃÖß ¯ÖÏÛ Ö¸ Û ß ®ÖÖîÛ ¸¿ÖÖÆß Ã¾ÖµÖÓ Û Öê »ÖÖêÛ  ×ÆŸÖ Û Ö ÃÖÓ¸õÖÛ  ´ÖÖ®ÖŸÖß Æî, ¯Ö¸ÓŸÖã ¾ÖÆ »ÖÖêÛ ´ÖŸÖ ÃÖê 

Ã¾ÖŸÖÓ¡Ö Æî ŸÖ£ÖÖ ¯ÖÏŸµÖã¢Ö¸¤ÖµÖß ®ÖÆà Æî ? 

 (1) µÖÖêÝµÖŸÖÖ †Ö¬ÖÖ×¸ŸÖ ®ÖÖîÛ ¸¿ÖÖÆß 

 (2) �ÖÖ×ŸÖ ®ÖÖîÛ ¸¿ÖÖÆß 

 (3) ÃÖÓ¸õÖÞÖ ®ÖÖîÛ ¸¿ÖÖÆß 

 (4) †×³Ö³ÖÖ¾ÖÛ  ®ÖÖîÛ ¸¿ÖÖÆß 

 

37. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ŒµÖÖ 73¾Öë ÃÖÓ×¾Ö¬ÖÖ®Ö ÃÖÓ¿ÖÖê¬Ö®Ö †×¬Ö×®ÖµÖ´Ö †Öî¸ 74¾Öë ÃÖÓ×¾Ö¬ÖÖ®Ö ÃÖÓ¿ÖÖê¬Ö®Ö †×¬Ö×®ÖµÖ´Ö Ûê  ²Öß“Ö ÃÖ´ÖÖ®Ö 

×¾Ö¿ÖêÂÖŸÖÖ‹Ñ Æï ? 

 a. ÃÖ´ÖµÖ-ÃÖ´ÖµÖ ¯Ö¸ ×®Ö¾ÖÖÔ“Ö®Ö 

 b. ÃÖÖ´ÖÖ×�ÖÛ  †Öî¸ †ÖÙ£ÖÛ  Û ´Ö�ÖÖê¸ ÃÖ´ÖæÆÖë Û Ö ÃÖ¿Ö×ŒŸÖÛ ¸ÞÖ 

 c. ¸Ö�µÖ “Öã®ÖÖ¾Ö †ÖµÖÖêÝÖ Û Ö ÝÖš®Ö 

 d. ¾ÖÖ›Ô ÃÖ×´Ö×ŸÖµÖÖë Û Ö ÝÖš®Ö 

 ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™Öë ÃÖê ÃÖÆß ˆ¢Ö¸ Û Ö “ÖµÖ®Ö Û ß×�Ö‹ : 

 Ûæ ™ : 

 (1) a †Öî̧  c  (2) a, b †Öî̧  c 

 (3) a, c †Öî̧  d (4) a, b, c †Öî̧  d 

 

38. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖÓ×¾Ö×¬ÖÛ  ×®ÖÛ ÖµÖ Æî ? 

 a. ×¾Ö¿¾Ö×¾ÖªÖ»ÖµÖ †®Öã¤Ö®Ö †ÖµÖÖêÝÖ 

 b. ¸Ö�Ö³ÖÖÂÖÖ †ÖµÖÖêÝÖ 

 c. ¸ê»Ö¾Öê ²ÖÖê›Ô 

 d. ¯Ö¸´ÖÖÞÖã ‰ �ÖÖÔ †ÖµÖÖêÝÖ 

 ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™Öë ÃÖê ÃÖÆß ˆ¢Ö¸ Û Ö “ÖµÖ®Ö Û ß×�Ö‹ : 

 Ûæ ™ : 

 (1) a †Öî̧  b (2) a, c †Öî̧  d 

 (3) a, b †Öî̧  d (4) b †Öî̧  d 
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39. Which one of the following ministries is an example of ministry formed on the basis of 

clientele principle ? 

 (1) Ministry of Defence 

 (2) Ministry of Human Resource Development 

 (3) Ministry of Agriculture 

 (4) Ministry of Law 

 

40. Who among the following are of the view that the managerial techniques and skills of 

Planning, Organizing, Coordinating and Budgeting are same in both Public and Private 

Administration ? 

 a. Henry Fayol b. M.P. Follet 

 c. Luther Gulick d. L. Urwick 

 Select the correct answer from the codes given below :  

 Codes : 

 (1) a and c (2) b and d 

 (3) a, b and c (4) a, b, c and d 

 

41. Who of the following belongs to British School of Realism ? 

 (1) Reinhold Niebuhr (2) N.J. Spykman 

 (3) Quincy Wright (4) Hedley Bull 

 

42. The notion of ‘Balance of Terror’ is related to 

 (1) Global Terrorism 

 (2) Counter Terrorist strategies 

 (3) Terrorist activities of drug traffickers 

 (4) Over-kill capacity emanating from nuclear weapons. 

 

43. Which one of the following is not a major assumption of balance of power ? 

 (1) States are determined to protect vital national interests. 

 (2) Vital national interests may be threatened. 

 (3) Relative power positions of the states can be measured. 

 (4) States apply moral parameters for assessing others’ behaviour. 
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39. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖ ´ÖÓ¡ÖÖ»ÖµÖ ÃÖê¾ÖÖ£Öá¾Öé®¤ ×ÃÖ¨Ö®ŸÖ Ûê  †Ö¬ÖÖ¸ ¯Ö¸ ÝÖ×šŸÖ ´ÖÓ¡ÖÖ»ÖµÖ Û Ö ‹Û  ˆ¤ÖÆ¸ÞÖ Æî ? 

 (1) ¸õÖÖ ´ÖÓ¡ÖÖ»ÖµÖ 

 (2) ´ÖÖ®Ö¾Ö ÃÖÓÃÖÖ¬Ö®Ö ×¾ÖÛ ÖÃÖ ´ÖÓ¡ÖÖ»ÖµÖ 

 (3) Ûé ×ÂÖ ´ÖÓ¡ÖÖ»ÖµÖ 

 (4) ×¾Ö×¬Ö ´ÖÓ¡ÖÖ»ÖµÖ 

 

40. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê µÖÆ ×Û ÃÖÛ Ö ×¾Ö“ÖÖ¸ Æî ×Û  †ÖµÖÖê�Ö®ÖÖ, ÃÖÓÝÖš®Ö ×®Ö´ÖÖÔÞÖ, ÃÖ´Ö®¾ÖµÖ Û ÖµÖÔ ŸÖ£ÖÖ ²Ö�Ö™ ×®Ö´ÖÖÔÞÖ Û ÖµÖÔ Û ß 

¯ÖÏ²ÖÓ¬ÖÛ ßµÖ ŸÖÛ ®ÖßÛë  ŸÖ£ÖÖ Û Öî¿Ö»Ö ÃÖÖ¾ÖÔ�Ö×®ÖÛ  ŸÖ£ÖÖ ×®Ö�Öß ¯ÖÏ¿ÖÖÃÖ®Ö ´Öë ‹Û ÃÖ´ÖÖ®Ö Æï ? 

 (a) Æê®Ö¸ß ±ê µÖÖê»Ö (b) ‹´Ö.¯Öß. ± Öê»Öê™ 

 (c) »Öã£Ö¸ ÝÖã×»ÖÛ  (d) ‹»Ö. ˆÙ¾ÖÛ  

 ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™ ÃÖê ÃÖÆß ˆ¢Ö¸ Û Ö “ÖµÖ®Ö Û ß×�Ö‹ : 

 Ûæ ™ : 

 (1) (a) †Öî¸ (c) (2) (b) †Öî¸ (d) 

 (3) (a), (b) †Öî¸ (c) (4) (a), (b), (c) †Öî¸ (d)  

 

41. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö µÖ£ÖÖ£ÖÔ¾ÖÖ¤ Û ß ×²ÖÎŸÖÖ®Öß ×¾Ö“ÖÖ¸¬ÖÖ¸Ö (×²ÖÎ×™¿Ö ÃÛæ »Ö †Öò±  ¸ß‹×»Ö�´Ö) ÃÖê ÃÖÓ²ÖÓ×¬ÖŸÖ Æî ? 

 (1) ¸ê®ÖêÆÖê»› ×®Ö²ÖãÆ¸ (2) ‹®Ö.�Öê. Ã¯ÖÖ‡Û ´Öî®Ö 

 (3) ×Œ¾Ö®ÃÖß ¸Ö‡™ (4) Æê›»Öß ²Öã»»Ö 

 

42. ‘†ÖŸÖÓÛ  Û Ö ÃÖÓŸÖã»Ö®Ö’  Û Ö ×¾Ö“ÖÖ¸ ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖÃÖê ÃÖÓ²ÖÓ×¬ÖŸÖ Æî ? 

 (1) ¾Öî×¿¾ÖÛ  †ÖŸÖÓÛ ¾ÖÖ¤ 

 (2) †ÖŸÖÓÛ ¾ÖÖ¤ ×¾Ö¸Öê¬Öß ¸ÞÖ®Öß×ŸÖ 

 (3) ®Ö¿Öß»Öê ¯Ö¤Ö£ÖÖí Ûê  ŸÖÃÛ ¸Öë Û ß †ÖŸÖÓÛ ¾ÖÖ¤ß ÝÖ×ŸÖ×¾Ö×¬ÖµÖÖÑ 

 (4) ¯Ö¸´ÖÖÞÖã Æ×£ÖµÖÖ¸Öë ÃÖê ×®ÖÛ »Ö®Öê ¾ÖÖ»Öß ¤ã×®ÖµÖÖ Û Öê ²ÖÖ¸-²ÖÖ¸ ŸÖ²ÖÖÆ Û ¸®Öê ¾ÖÖ»Öß õÖ´ÖŸÖÖ 

 

43. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ¿Ö×ŒŸÖ ÃÖÓŸÖã»Ö®Ö Û ß ´ÖãÜµÖ ¬ÖÖ¸ÞÖÖ ®ÖÆà Æî ? 

 (1) ¸Ö�µÖ ¯ÖÏ´ÖãÜÖ ¸ÖÂ™ÒßµÖ ×ÆŸÖÖë Û ß ÃÖã¸õÖÖ Ûê  ×»Ö‹ ¥œÌ ÃÖÓÛ »¯Ö Æï … 

 (2) ¯ÖÏ´ÖãÜÖ ¸ÖÂ™ÒßµÖ ×ÆŸÖÖë Û Öê ÜÖŸÖ¸Ö ¯Öî¤Ö ÆÖê ÃÖÛ ŸÖÖ Æî … 

 (3) ¸Ö�µÖÖë Û ß ÃÖÖ¯ÖêõÖ ÃÖ¢ÖÖ ×Ã£Ö×ŸÖµÖÖë Û Ö ´ÖÖ¯Ö®Ö ×Û µÖÖ �ÖÖ ÃÖÛ ŸÖÖ Æî … 

 (4) ¸Ö�µÖ ¤æÃÖ¸Öë Ûê  ¾µÖ¾ÖÆÖ¸ Û Ö ´Öæ»µÖÖÓÛ ®Ö Û ¸®Öê ÆêŸÖã ®Öî×ŸÖÛ  ´ÖÖ®Ö¤Ó›Öë Û Öê »ÖÖÝÖæ Û ¸ŸÖê Æï … 
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44. Which country/countries refused to accept legally binding emission cuts following Kyoto 
Protocol ? 

 (1) India (2) China 

 (3) India and China both (4) Sweden  

 

45. Which leader of the USSR introduced the policy of ‘peaceful-coexistence’ ? 

 (1) Mikhail Gorbachev (2) N. Khrushchev 

 (3) L. Brezhnev (4) Joseph Stalin 

 

46. At the end of cold war Francis Fukuyama constructed the thesis of ‘end of history’ which 
meant : 

 (1) The world would no longer be unfolding events. 

 (2) The tension and conflict would cease to exist at global level. 

 (3) Ideological struggles had come to an end. 

 (4) Ideological struggles would be waged with new vigour. 

 

47. NATO’s partnership for peace programme was aimed at 

 (1) Incorporating ex-Eastern bloc states into the organisation. 

 (2) Tackling problem of Serbs in Bosnia. 

 (3) Implementing military action against Yugoslavia. 

 (4) Taking action against Al Asad Regime in Syria. 

 

48. Which of the events mentioned below is taken as signaling the end of Cold War ? 

 (1) Soviet Union’s collapse in 1991 

 (2) Breaching of Berlin Wall in 1989 

 (3) Declaration of independence by Republic of Kazakhstan in 1991 

 (4) Large scale revolt for freedom in Baltic States in 1989 

 

49. The renaming of European Community (EC) to European Union resulted from the signing 
of 

 (1) Maastricht Treaty (2) Treaty of Rome 

 (3) The Lisbon Treaty (4) Treaty of Nice 

 

50. Which of the following is not a specialized agency of the United Nations ? 

 (1) WHO (2) IMF 

 (3) FAO (4) OPEC 

___________ 
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44. ×Û ÃÖ/×Û ®Ö ¤ê¿Ö/¤ê¿ÖÖë ®Öê ŒµÖÖê™Öê ¯ÖÏÖê™ÖêÛ Öò»Ö Û Ö †®Öã¯ÖÖ»Ö®Ö Û ¸ŸÖê Æã‹ ˆŸÃÖ�ÖÔ®Ö ´Öë Û ´Öß »ÖÖ®Öê Û Öê ×¾Ö×¬ÖÛ  º ¯Ö ÃÖê †×®Ö¾ÖÖµÖÔ 
×Û µÖê �ÖÖ®Öê Ûê  ¯ÖÏÃŸÖÖ¾Ö Û Öê †Ã¾ÖßÛ Ö¸ Û ¸ ×¤µÖÖ Æî ? 

 (1) ³ÖÖ¸ŸÖ (2) “Öß®Ö 

 (3) ³ÖÖ¸ŸÖ †Öî¸ “Öß®Ö ¤Öê®ÖÖë (4) Ã¾Öß›ê®Ö 

 
45. µÖæ ‹ÃÖ ‹ÃÖ †Ö¸ Ûê  ×Û ÃÖ ®ÖêŸÖÖ ®Öê ‘¿ÖÖÓ×ŸÖ¯ÖæÞÖÔ ÃÖÆ-†×ÃŸÖŸ¾Ö’  Û ß ®Öß×ŸÖ ¿Öãº  Û ß £Öß ? 

 (1) ×´ÖÜÖÖ‡»Ö ÝÖÖê²ÖÖÔ“ÖÖê¾Ö (2) ‹®Ö. ÿÖã¿“Öê¾Ö 

 (3) ‹»Ö. ²ÖÎê—Ö®Öê¾Ö (4) �ÖÖòÃÖê±  Ã™Ö×»Ö®Ö 

 
46. ¿ÖßŸÖÛ Ö»Ö Û ß ÃÖ´ÖÖ×¯ŸÖ ¯Ö¸ ±Ï ÖÓ×ÃÖÃÖ ±æ Ûã µÖÖ´ÖÖ ®Öê ‘‡×ŸÖÆÖÃÖ Û Ö †ÓŸÖ’  Û Ö ×¾Ö“ÖÖ¸ ×¤µÖÖ ×�ÖÃÖÛ Ö †£ÖÔ Æî 

 (1) ×¾Ö¿¾Ö ´Öë †¯ÖÏÛ ™ ‘Ö™®ÖÖ‹Ñ †²Ö ®ÖÆà ÆÖëÝÖß … 

 (2) ¾Öî×¿¾ÖÛ  ÃŸÖ¸ ¯Ö¸ ŸÖ®ÖÖ¾Ö ŸÖ£ÖÖ ™Û ¸Ö¾Ö †²Ö ®ÖÆà ÆÖêÝÖÖ … 

 (3) ÃÖî¨Ö×®ŸÖÛ  ÃÖÓ‘ÖÂÖÔ †²Ö ÃÖ´ÖÖ¯ŸÖ ÆÖê “ÖãÛ Ö … 

 (4) ÃÖî¨Ö×®ŸÖÛ  ÃÖÓ‘ÖÂÖÔ ®ÖµÖê ˆŸÃÖÖÆ Ûê  ÃÖÖ£Ö ÆÖêÝÖÖ … 

 
47. ¿ÖÖÓ×ŸÖ Û ÖµÖÔÛÎ ´Ö Ûê  ×»ÖµÖê ®ÖÖ™Öê Û ß ³ÖÖÝÖß¤Ö¸ß Û Ö ˆ§ê¿µÖ £ÖÖ 

 (1) ³ÖæŸÖ¯Öæ¾ÖÔ ¯Öæ¾Öá ÝÖã™ Ûê  ¸Ö�µÖÖë Û Öê ‡ÃÖ ÃÖÓÝÖš®Ö ´Öë ¿ÖÖ×´Ö»Ö Û ¸®ÖÖ … 

 (2) ²ÖÖê×Ã®ÖµÖÖ ´Öë ÃÖ²ÖÖí Û ß ÃÖ´ÖÃµÖÖ ÃÖã»Ö—ÖÖ®ÖÖ … 

 (3) µÖãÝÖÖêÃ»ÖÖ×¾ÖµÖÖ Ûê  ×¾Ö¹ ¨ ÃÖî®µÖ Û Ö¸Ô¾ÖÖ‡Ô Û ÖµÖÖÔ×®¾ÖŸÖ Û ¸®ÖÖ … 

 (4) ÃÖß×¸µÖÖ ´Öë †»Ö †ÃÖ¤ ¿ÖÖÃÖ®Ö Ûê  ×¾Ö¹ ¨ Û Ö¸Ô¾ÖÖ‡Ô Û ¸®ÖÖ … 

 
48. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖ ‘Ö™®ÖÖ Û Öê ¿ÖßŸÖ µÖã¨ Û ß ÃÖ´ÖÖ×¯ŸÖ Û Ö ÃÖÓÛê ŸÖ ´ÖÖ®ÖÖ �ÖÖŸÖÖ Æî ? 

 (1) ¾ÖÂÖÔ 1991 ´Öë ÃÖÖê×¾ÖµÖŸÖ ÃÖÓ‘Ö Û Ö ×¾Ö‘Ö™®Ö 

 (2) ¾ÖÂÖÔ 1989 ´Öë ²ÖÙ»Ö®Ö Û ß ¤ß¾ÖÖ¸ Û Öê ×ÝÖ¸ÖµÖÖ �ÖÖ®ÖÖ 

 (3) ¾ÖÂÖÔ 1991 ´Öë Û �ÖÌÖ×Û ÃŸÖÖ®Ö ÝÖÞÖ¸Ö�µÖ «Ö¸Ö Ã¾ÖŸÖÓ¡Ö ÆÖê®Öê Û ß ‘ÖÖêÂÖÞÖÖ 

 (4) ¾ÖÂÖÔ 1989 ´Öë ²ÖÖ×»™Û  ¸Ö�µÖÖë ´Öë Ã¾ÖŸÖÓ¡ÖŸÖÖ ÆêŸÖã ²Ö›Ìê ¯Öî´ÖÖ®Öê ¯Ö¸ ×¾Ö¦ÖêÆ 

 
49. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖ ÃÖÓ×¬Ö ¯Ö¸ ÆÃŸÖÖõÖ¸ ×Û µÖê �ÖÖ®Öê Ûê  ¯Ö×¸ÞÖÖ´ÖÃ¾Öº ¯Ö µÖæ¸Öê¯ÖßµÖ ÃÖ´Öã¤ÖµÖ (‡Ô ÃÖß) Û Ö ®ÖÖ´Ö ²Ö¤»ÖÛ ¸ 

ˆÃÖê ®ÖµÖÖ ®ÖÖ´Ö µÖæ¸Öê¯ÖßµÖ ÃÖÓ‘Ö ×¤µÖÖ ÝÖµÖÖ ? 

 (1) ´ÖÖ×Ã™ÒŒ™ ÃÖÓ×¬Ö (2) ¸Öê´Ö Û ß ÃÖÓ×¬Ö 

 (3) ×»ÖÃ²Ö®Ö Û ß ÃÖÓ×¬Ö (4) ®ÖÖ‡ÃÖ Û ß ÃÖÓ×¬Ö 

 
50. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÓµÖãŒŸÖ ¸ÖÂ™Ò Û ß ×¾Ö×¿ÖÂ™ ‹�ÖëÃÖß ®ÖÆà Æî ? 

 (1) ›²»µÖæ ‹“Ö †Öê (2) †Ö‡Ô ‹´Ö ‹±  

 (3) ‹±  ‹ †Öê (4) †Öê¯ÖêÛ  
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